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SECOND MID-TERM EXAMSEMESTER I, (1437 -1438)

Question: 1. (a) Given vectors

U=<3,-2,2>v =<4,5,7> and w =< 0,1,3>. Find
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(b) Determine whether the lines
L: x =142,y =1-4¢t, z=5-¢
l,:

X=4-v,y=—1+6v,z =4+vy

are intersecting or parallel. If intersecting, find the point of intersection,
also find the angle between the lines.
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Question: 2. ( a) Identify the surface 36x * — 16y 49z

* = 0. Find its traces on the coordinate
planes and then sketch the surface. (6]
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(b) Let the curve be determined by the function
r(t)=<2cost,2sint,3>, teR.
Find Unit tangent vector T(t),
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Principal normal vector N(t) and

equation of tangent vector at the point P on the curve C where t =
/
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Question: 3. (a) Suppose acceleration of a point moving along the curve at time t is given by
a(t)=i+2t +3t*k and its velocityatt=01is v(0)=<0,1,-1>.
Find the tangential and normal components of acceleration and
the curvature of the curve C att=1. [10]
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(b) Find radius and center of curvature to the curve

r(t)=t i +t°j at the point P(-1,1). 8]
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